RED 00'(#
R <
<

OVERHEAD MOLLE PANEL

(2007-2018 WRANGLER JK - 4 DOOR)

INSTALLATION INSTRUCTIONS

CONTENTS

1) Overhead Molle Panel
1) LH Roll Bar Mounting Bracket
1) RH Roll Bar Mounting Bracket
1) LH Extension Bracket
1) RH Extension Bracket
2) ‘U’ Brackets
2) Flat Brackets
1) LH Hinge Bracket
1) RH Hinge Bracket
4) Thumb Knobs
4) Nylon Spacers
2) M8x1.25 x 25mm Allen Bolts
2) M6x1.00 x 12mm Allen Bolts
2) M6x1.00 x 20mm Allen Bolts
2) M6x1.00 x 45mm Allen Bolts

)

(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(6) M6 Lock Nuts

TOOLS REQUIRED

4mm, 5mm Allen Keys/Sockets
10mm Wrench/Socket
Ratchet

SKU # J166731



’
REDROCK:
z

STEP1

Unzip the upper rear roll bar to reveal the steel roll bar.

STEP 2

Mount the LH and RH roll bar mounting brackets to the overhead molle panel using (1) M6 x 12mm
Allen bolt, (1) Nylon spacer, and (1) M6 lock nut per bracket.



’
REDROCK =
z

STEP 3

Mount the overhead molle panel with the mounting brackets to the vehicle roll bar using (1)
M8x1.25 x 25mm Allen bolt on each side, tighten until secure.

STEP 4

Install (1) extension bracket to (1) hinge bracket using (1) M6x1.00 x 25mm Allen bolt and (1) M6 lock
nut. Secure the hinge bracket to (1) flat bracket using (1) M6x1.00 x 20mm Allen bolt and (1) M6 lock
nut.

Repeat this step to the opposite side mounting bracket.



’
REDROCK:
z

STEP 5

Loosely install each assembled bracket to the lower roll bar using (2) M6x1.00 x 45mm Allen bolts
and (2) M6 lock nuts.

STEP 6

With each extension bracket installed, extend the brackets to the overhead molle panel, and secure
using (2) threaded knobs. The knobs pass through the bracket and into a welded nut in the molle
panel.



’
REDRQCK:
z

STEP 7

To fold the molle panel parallel with the vehicle top, remove the (2) threaded knobs, and lift the
molle panel upwards, and resecure to the brackets using the (2) threaded knobs.

Installation is now complete.



	J166731 - RedRock - Overhead Molle Panel (07-18 JK 4 Door)-01
	J166731 - RedRock - Overhead Molle Panel (07-18 JK 4 Door)-02
	J166731 - RedRock - Overhead Molle Panel (07-18 JK 4 Door)-03
	J166731 - RedRock - Overhead Molle Panel (07-18 JK 4 Door)-04
	J166731 - RedRock - Overhead Molle Panel (07-18 JK 4 Door)-05

